4 3 < 2 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 7 C7X17 7/ ~-- / 27GA 1. 75" THICK MINOR RIB 1 OF 4 [REv N NE- | DATE: 0.1 APPVD: DESCRIPTION
3718 / C7X18 / -- / 27GA 1. 75" THICK FLUSH BEN. NO.| ZONER] DTS ERIL H0: :

3720 + C7X20 / 240U 7/ 27GA 2° THICK MINOR RIB 00 = | e E SH REVISED BRACKETS.

3935 [/ COXEE # = / 20GA 2* THICK FLUSH

3724 ¢ C7X24 / 244U 7/ 24GA 2° THICK MINOR RIB OPTIONAL GLAZING MAY BE STANDARD (DSB OR

BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM

GLAZING SIZE (DLO) IS 22"x9-7/8". SEE SECTION
__ B-B ON SHEET 2 FOR DETALS.

GLAZING MAY BE INSTALLED IN TOP SECTION (NOT
SHOWN) OR INTERMEDIATE SECTION (SHOWN).

(1) 20 GA. GALV. STEEL BACKER PLATE AT
EACH INTERMEDIATE HINGE LOCATION. 30 e, IDOLIBES D SILE
BACKER PLATE ATTACHED WITH DOUBLE SIDED

ACRYLIC ADHESIVE TO BACK OF DOOR.

_—3" 20 GAGE U—BARS. BARS ARRANGED
IN A 1-0—1-0 PATTERN OVER THE
)\HINGES ON EVERY SECTION AS SHOWN.

VI EW "B "
VIEW "C"

18'0"
o

(1) 4" T-STRUT PER SECTION. FOR

[ | SECTIONS WHERE U—BARS ARE NOT

| USED, T-STRUT MAY BE MIDDLE OR

® & TOP OF SECTION. FOR SECTIONS WITH
\ U-BARS, T-STRUT TO BE AT BOTTOM

OF SECTION AS SHOWN.
Lany i \LOCK POSITION (BOTH SIDES).

U-BAR.

N T—STRUT. ‘-

e N_ (2) LHR TOP BRACKETS USED AS INNER

MAX. DOOR WIDTH = 18'-2" BOTTOM BRACKET.
INSIDE _ELEVATIONS

MAX. DOOR HEIGHT:
24" MAX. SECTION HT.

#14x5/8" SHEET METAL SCREWS

THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR
THE ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING
., INUMBER OF #14x5/8" SHEET METAL SCREWS TO THE FLORIDA BUILDING CODE OR THE INTERNATIONAL
DOOR HEIGHT A" | 'crrr1oNns BUILDING CODE (BASED ON ASCE7-05) FOR THE
70 8-0 FOLLOWING CONDITIONS: 1) ENCLOSED BUILDING, 2)
e - g DOOR HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3)
i DRy, > ROOF SLOPE <10°, AND 4) TESTING IN ACCORDANCE
i _.3. THRU 12°-0 6 WITH ANSI/DASMA 108. SITE—-SPECIFIC CALCULATIONS BY
12°-3 p"RU 14"~0° 7 A QUALIFIED DESIGN PROFESSIONAL MAY DIFFER.
14""3' HRU 16'-0" 8 1 4" 3 4" SELF
16°-3" THRU 18°-0" 9 TﬁppTNé SCREWS. WIND SPEED (MPH) 140 145 160
14 GA. END HINGES 14 GA. (MIN.) INTERMEDIATE HINGE EXPOSURE CATEGORY B, C B, C B
VIEW "B" VIEW "C"
MEAN ROOF HEIGHT 25’ 15° 30’
SNAP LATCH ENGAGES END
ONTO VERTICAL TRACK. STILE
gfg,_, Sg‘.ﬁ'é ET:TCSO(?F? MANUFACTURING PRODUCT CODE
SLIDE BOLT LOCK ' C“DSIU_1D477
ENGAGES INTO
END DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F. :
STILE. i M SUTSIE TEST LOADS: +54.0 P.S.F. & —60.0 P.SF. PART NO.: N/A
EACH SIDE OF OUTSIDE LE. EggEGEQRN Unless Stated Otherwise - l:l 3585 Dgﬁe4g8r(l)evljosrg WINDLOAD RATING
7 | ason,
s Y474 /]I HANDLE. . STILE. EACH SIDE 0 = +.031 Building Products Company Fox No. 513-770-4853
' OF DOOR. 633 = ;-gég DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
INSIDE_SLIDE_BOLT INSIDE HANDLE 000 = &. —en T 1710/13 | SCALE: NTS
DESIGN ENGINEER: LOCK_OPTION, QUTSIDE KEYED LOCK WITH OUTSIDE_KEYED LOCK WITH 0000 - +001 |ORAMM BY: > DATE: 1710713 | SUALE: b
' SNAP LATCH LOCK OPTION CK_BAR_LOCKING. Degrees = £1/2' |CHECKED BY: SH DATE: 1/10/13 [SHEET 1 OF 4 |SIZE
MARK WESTERFIELD, P.E. L : Unless Stoted Otherwise T
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104826 — A/B VER: TDI



4 3 - 2 1
CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 / C7X17 / -- / 27GA 1. 75" THICK MINOR RIB 2 OF 4 3 : . IPTION
ik e e oo e REV. NO.| ZONE: | DATE: ECN NO. | APPVD: DESCRIPTIO
3720 7/ C7X20 / 240U 7 27GA 2 THICK MINOR RIB 00 = = 2 Sl 5he REVISIGN WISTOR Sl ik ONG:
3722 / coxee / -- / 20GA 2" THICK FLUSH
3724 / C7Xe4 / 244U / 24GA 2° THICK MINOR RIB

IMPART —RESISTANT CONSTRUCTION:

ANT GLAZING ARE

SOLID DQQRS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT-RE

IMPACT - R\@ISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSIS#¥ OF ALUMINUM
FRONT FRAN@, AND SABIC IP LEXAN 9034 (VERSIONS ALSO APPMWVED: MR10, 9030,
90318, 9031890317, 90311, 90314, 90355) OR BAYER MAMFOLON GP (VERSIONS

CORDANCE WITH IBC/FBC

SL, AR, 15), APPROVED CC1 PLASTICS IN
BC 2612.

D C1 PLASTICS IN ACCORDANCE WITH

ALSO APPROVER
2606 AND APPRG

WIND LOAD RE

THE ENTIRE DOOR
CODE AND IS LARGE-

SSEMBLY INSTALLED IN COMPLIANC
TS OF THE FLORIDA BUILDING
D SMALL—-MISSILE IMPACT @

QUIR

H THIS SECTION MEETS THE
ODE AND INTERNATIONAL BUILDING

ISTANT.

SECTION B—N

(IMPACT—RISTANT GLAZING OPTION)

1/4'

EXTERIOR OF DOOR

p—— /

(10) #8-18 x 1/2"

H SELF—TAPPING SCREWS.
A
WS, m—]
18, INTERIOR OF DOOR.
S \
Ny
S RETAINER,
(12) #8-18 x 1/2" N RUMINUM FRAME.

SELF-TAPPING SCREWS.

" THICK POLYCARBONATE

GLAZING.

IMPACT—RESISTANT ASSEMBLY DEWNILS

DRAWING 104826-A

STANDARD ASSEMBLY CONSTRUCTION:

OPTIONAL DSB OR TEMPERED INSULATED GLAZING AVAILABLE.

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OR INTERNATIONAL BUILDING
CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

REGIONS (REF. CHAPTER 16 FBC/IBC).

SECTION B—B (NON—IMPACT—RESISTANT GLAZING OPTION)

PANEL —=— |—‘—
THICKNESS PAN HEAD
SCREW
—————
INSULATED GLASS ——| [=—
THICKNESS
—_—
OUTSIDE
INSIDE
M
FRANS FRAME

STANDARD ASSEMBLY DETAILS
DRAWING 104826-B

MANUFACTURING PRODUCT CODE

C=DSIU=1D47 ¢

DESIGN LOADS: +36.0 P.SF. & —40.0 P.S.F.
. TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
//f Unless Stated Otherwise | (S [:lopay 3585 Dgﬁe@g%ev@srg WINDLOAD RATING
) : ) TOLERANCES are - ason,
, Tel. No. 513-770-4800
% %/ 5/2/ /;/ 0 = +.031 Building Products Company Fax No. 513-770-4853 \/‘/ 6 D P 3 6 —|-
0-88 = i-g")g DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
d = *.
0000 = +.001 DRAWN BY: SH DATE: 1/10/13 [SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = +1/2°  [CHECKED BY: SH DATE: 1/10/13 [SHEET 2 OF 4 [SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwi
FLORIDA P.E. §48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104826 — A/B VER: TOI

4



CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 / C7X17 /7 -- / 276GA 1. 75" THICK MINOR RIB 3 OF 4 RE ; ’ :
V. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
3718 / L7X18 7 -~ / 27GA 1. 75" THICK FLUSH ONE
3720 7/ C7X20 7/ 240U 7/ 27GA 2* THICK MINOR RIB 0o = 8 G SH SEE REVISION HISTORY O SHERT ONE.
3722 / COxeg 7 -- / 20GA 2 THICK FLUSH
724 /£ CH o "
372 C7Xe4 / 244U / 24GA 2" THICK MINOR RIB L — 1-3/4" THICK MIN.
HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT EZWG%T(HO‘GG-4g'NM?N.E)g§R:?RBELIESEON
W (NO LOAD FROM DOOR) NOTES: POLYESTER PAINTED TOP COAT APPLIED
/ 3Y 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO TO BOTH SIDES OF STEEL SKIN.
) . THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
\\ TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +324 LB & —-360 LB. PER LINEAR
FOOT OF JAMB,
3. Al AMB FASTENERS MAY T ARE NOT R IR T PROVI A
FASTENER Shu e HETELE, MAY E (POTTARE. NOE REQUIRED 10/ BRY SOUNTERSHRNK T0) REOWDE 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
TYPE 4, A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
/] LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
I By BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
—T BRACKET.
MAX. O.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUQUS ANGLE MOUNT TRACK. HOWEVER, 2 e W
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS —4 : SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
i " My EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 CA.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY VIEW D
. THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK 24" TALL TAPER STRUT. MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH 4-1/4" 0.062" MIN. GALV. STEEL TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT | 80 KSI MIN. ' : PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. : ALONG THE WIDTH OF THE EXTERIOR PANELS.
/] \ TONGUE AND GROOVE JOINTS.
) 3" - VIEW "E”
. s L |“ 3" TALL 50 KS| U—BAR 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
1-7/8"= 20 GA. CALV. STEEL TO END STILES W/(4) #14x5/8" SHEET METAL AND
T : y y (2) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B")
TT———— (1) 3" x 20CA. STEEL U—-BARS AT THE TOP OF
— EVERY OTHER SECTION. ATTACHED WITH (2)
1/4"x3/4" SELF-TAPPING SCREWS PER HINGE
LOCATION. (SEE VIEW "E")
ONE 4" T—-STRUT PER SECTION. (SEE VIEW "D")
EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
WITH (2) 1/4"x3/4" SELF TAPPING SCREWS.
27 GA. (.016" MIN.) EXTERIOR STEEL
SKIN WITH G—40 MIN. GALV., BAKED-ON
. POLYESTER PAINTED TOP COAT APPLIED
A TO BOTH SIDES OF STEEL SKIN.
B a4
12 GA. GALV. STEEL BOTTOM BRACKET.

FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES

ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

SECTION A—A (SIDE VIEW)

DESIGN LOADS: +36.0 P.S.F. &
TEST LOADS: +54.0 P.S.F. & -60.0 P.S.F.

C-DSIU-1D477

MANUFACTURING PRODUCT CODE

-40.0 P.S.F. PART NO.: N/A

MAXIMUM

ON-CENTER

DISTANCE  |STEEL

BETWEEN _|WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS *|REQUIRED?
HOLLOW BLOCK WALL 1/4" x 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 5" 1" 0.D.
GROUT FILLED BLOCK WALL |1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 8-1/2" 100,
2000 PSI MIN. CONCRETE 1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 7-1/4"7 17 0.D.
2000 PSI MIN. CONCRETE 1/4" x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 6—1/4" 1" 0.D.
2000 PSI _MIN. CONCRETE 3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 15-1/2" INCLUDED
4 PSI_MIN NCRET! 3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED
WQOD FRAME (SYP 0.55 SG)1/2" x 3" LAG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTQO STRUCTURE 16-3/4" 1" 0.D.
14GA_STEEL (0.060" MIN.) 1/4"-14 x 1" ITW BUILOEX TEKS SELF-DRILLING FASTENER 7 1" 0.D.
12GA STEEL (0.105" MIN.) |1/4"—14 x 1" ITW BUILDEX TEKS SELF-DRILLING FASTENER 12-1/4" 17 0.D.
1/8" STEEL 1/4"—14 x 1" ITW BUILDEX TEKS SELF-DRILLING FASTENER 14-3/4" 1" 0.D.

772/

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

/7

* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED
AT LEAST AS HIGH AS THE DOOR OPENING.

CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS.

MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS.

Unless Stoted Otherwise
TOLERANCES ore
.0 = +.031
.00 = *.015
.000 = +.005
.0000 = #£.001
Degrees = *1/2°

Unless Stated Otherwise
DIMENSIONS ARE IN INCHES.

-nlupay agggn'DShegg%evgsrg WINDLOAD RATING
s hmnlte s |\ /6 DP 36T
DESCRIPTION: 1—3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
CHECKED BY: SH DATE: 1/10/13 [SHEET 3 OF 4 SIZE
DWG. NO.: 104826 — A/B VER: TDI

4

+

3




CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 7/ C7X17 / =--  / 27GA 1. 75" THICK MINOR RIB 4 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
R R / edoh Lo THlEk FLUoi 00 SH SEE REVISION HISTORY ON SHEET ONE
3720 / C7X20 / 240U / 27GA 2* THICK MINOR RIB = ~ e .
3722 / COXeg / -- / 20GA 2* THICK FLUSH
3724 / C7X24 / 244U / 24GA 2" THICK MINOR RIB
2" _TRACK CONFIGURATION HORIZONTAL TRACK
DOORS UP TO 800 LBS. SUPPORT BY DOOR
%, INSTALLER (TO suw)# 5O0R HiRiE  CONEERRIRN
NOTE DOUBLE TRACK DOOR COUNTERBALANCE SYSTEM - JAMB CONEIGURATIVIY ANGLE MOUNT JAMB CONFIGURATION
HEADROOM, HI-LIFT TRACK, " : : Hg',G*éT,, '7— _ DOORS _UP_TO 800 LBS.
FOLLOW-THE— ROOF = 2x6 SYP JAMB (IF PRESENT;
TRACK, AND VERTICAL LIFT 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7'—-0"| 76" RACKET MOUNT JAMB NFIGURATION SEE JAMB NOTE‘.(':‘ ON SHEET 3).
TRACK ARE AVAILABLE JAMB WITH (3) 5/16" X 1—5{8" LAG SCREWS 7'-6"'| 82" 1" DOOR OVERLAP (EACH SIDE) —]
%glg(N%ONFIGURATION S8 RS i i T B g:—g: Si: S B oINSt STOP( '\AOULDI)NG
= - 2x6 SYP WOOD JAMB. BY INSTALLER (TO SUIT). ) Y
ABOVE THE DOOR OPENING 5 3 —0"[100" REQUIRED FOR BRACKET 16 GA GALV. STEEL DOUBLE—END-STI : ONE 5/16" x 1-5/8" LAG
& i —END-STILE :
DOES NOT AFFECT THE AS RQD: SPACING NTE 14" O.C. 6" 106" " SCREW SPACED AT THE SAME
WIND LOAD RATING. 3 T MIEPE Ll FASTENED WITH (1) #8 X 1/27 WAFER SCREW. DISTANCES AS THE TRACK BOLTS
] T i i L (LE. 3-1/2", 10", AND EVERY
P - 2Ty oW 8 12"). ALSO TWO CREW.
“ e g U Ry 11 -0_1124. 2-1/2" X 12 GA GALV. STEEL T [3htD ABOVE VERTICAL
i : 0.089% 11°-6"113 TRACK BRACKETS FASTENED TO HORIZONTAL TRACK JUNCTION.
- 12'-0"[136" WOOD JAMBS WITH 5/6" X 7/16" 1.D. ROUND
& L 12'-6"1142" 1-5/8" LAG SCREWS NOT TO PUSH NUT 14 GA. GALV. STEEL CENTER HINGE
n VERTICAL TRACK TO BE BRACKET 13-0"]148" EXCEED 14" ON-CENTER. FASTENER. FASTENED TO SECTION W/(4) EACH
MOUNT BR CONTINUOUS ANGLE 13 —6"]154 #14x5/8" SHEET METAL SCREWS.
Q (1-3/4"%2-1/4"x12 GA MIN.) 14 —0" 160" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
z MOUNT. ALL BRACKETS/TRACK 14'-6"[166" SHEET METAL SCREWS AND (2) 1/4” SELF TAPPING SCREWS PER END HINGE.
%’ CLIPS ARE 12 GA. GALV. STEEL. 1530 1179 2" GALV. STEEL TRACK FASTENED TO
BRACKETS/CLIPS ARE ATTACHED 15'—6"]178" 12 GA GALV STEEL TRACK BRACKETS " .
TO TRACK WITH EITHER TWOQ 1/4" 16'=0"[184" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
RIVETS OR ONE 1/4" BOLT AND 16'—6"[190" (1) 1/4" X 5/8" BOLT & NUT PER —t 2
NUT. 17'-0"]196" TRACK BRACKET. SECTION C=C . .
B 76" 1202" LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
o 18°—0"1208" PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE” AS SHOWN IN
ZONE B-2 SHEET 1.
" TRACK FIGURATION
S7_TRACK _CONFIGURATLO JAMB CONFIGURATION DOUBLE TRACK
DOORS 800 LBS AND OVER. DOORS 800 LBS AND OVER. LOW_HEADROOM OPTION
CENTER HANG REQUIRED FOR (AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOORS OVER 8" HIGH,
HEADROOM, HI-LIFT TRACK, % ‘ DOUBLE HORIZONTAL
W-THE~ " d
'Frgklé?(. AN’B VEETQI?JZL LIFT 20 u - e 1" DOOR OVERLAP (EACH SIDE) —| ing
Lﬁ?%(m ;‘RE AVAILABLE é V ) l %6 SYP JAMB (IF PRESENT; OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
TRACK CONFIGURATION 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3). sy 16 GA GALV. STEEL DOUBLE-END-STILE FASTENED
ABOVE THE DOOR OPENING THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK [/ WITH (1) #8 X 1/2" WAFER SCREW.
DOES NOT AFFECT THE MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8" SL‘JS?'EORETR B\;_ D%ORI_ " " |
= IN IT). =
WIND LOAD RATING. kjﬁﬁg%&mﬁgwﬁ gg&csx FE&SAZ‘A'%?”MSSS%',:‘(? LLER (TO SUIT) 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED
— H—
T : ANGLE. SEE LAG BOLT MOUNTING AT TRACK d | 14 GA. GALV. STEEL CENTER HINGE
& NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION . . )
o - = g CONFIGURATION BELOW. 7/16" 1.D. ROUND FASTENED TO SECTION W/(4) EACH
T \_ PUSH NUT #14x5/8" SHEET METAL SCREWS.
2 )N ADDITIONAL MOUNTING SLOTS FASTENER.
S SPACED AT 12" CENTERS. 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
. TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
e - 12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
z ) NUT AT EACH MOUNTING SLOT.
e o 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
© SECTION C—C MANUFACTURING PRODUCT CODE
z 5 ONE. %" TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS. C-DSIuU-1D477
& ; MOUNTING 'SLOT LOCATION. DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F. -
/ S SOOR TVERTICAL TEST LOADS: +54.0 P.S.F. & —60.0 P.SF. PART NO.: N/A
’ 4 HEIGHT |[TRACK LENGTH Unless Stated Otherwise | (il [:I 8585 Duke Boulevard WINDLOAD RATING
‘ 22 o @EI Mason, OH_ 45040 USA
’////Z’ | 5/~ g'—g" gi TOLERANCES ore [1204] opay Tel. No. 513-770-4800 \A/ 6 D P 3 6 '|'
% ‘5/) /}z ST o 0 = +.031 Building Products Company Fax No. 513-770-4853
g ’ : L . ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = £.015 ; " o
10— e s : . TION: 1-3/4" INTELLICORE DOORS UP TO 1 TA
/ i 12‘-(()) gg“ DISTANCES AS THE TRACK BOLTS (l.E. 3-1/27 10", 227, 347, 000 = +.005 DESCAIF IO / ELLICORE DR UF 10 1852 W (0 wiole)
- 3-1/2" 14'=07 156" 46", E1C.). ADDITIONAL LAG SCREWS LOCATED AT 16 28" & 0000 = +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: _ 16-07 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2' CHECKED BY: SH DATE: 1/10/13 |SHEET 4 OF 4 SIZE
MARK WESTERFIELD, P.E. RO CELT: 17._0- 20“’.. VERTICAL/HORIZONTAL TRACK JUNCTION. Unless Stated Otherwise
FLORIDA P.E. /48495, NC P.E. #23832, TEXAS P.E. 491513 18-01 228 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104826 - A/B VER: TDI

4

-~ 2 1




